H & 0l & AHS B Ml A

FA: SIMR D

33 ogzd K&
&elr 232d E oZEs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2|3 AR 1t 1,040,140 1,021,350 18,790
ozl2g X 935,801 909,748 26,053
Slpl2g & A¥Es NE 935,801 909,748 26,053
Adgs A& 581,905 513,013 68,892
201 fer= 3| 5,600 5,600 0
01 At 2|l 5,600 5,600 0
O=01S=bl 70,0002 *80AI 2+ 5,600
205 2|3/H| 576,305 507,413 68,892
01 28 &=Hl 144,000 105,600 38,400
o2 g sl 1,500,000 x8& * 122 144,000
2 3= 176,527 169,343 7,184
Oogd=¢ 1,838,820 +x8&* 12 176,527
03 2| =LHOHI 10,000 10,000 0
Oo2d £& 0 10,000
04 2lE=2/(4H| 50,000 50,000 0
O2AHSE=UEE 5,000,000 ~8H 40,000
O=2AXNHZBHEHN =N S &4 10,000
06 2H=ESS3H 53,400 53,400 0
Oy 2% =S8 5,800,000 -84 46,400
Ol ZLSER 22 SS3I
1,000,000 7 7,000
06 232 HARFAl| 63,270 63,270 0
oo & 27,720,000& 1 27,720
2o/ 13,800,000 1 13,800
OUAZBASEAR 22 E
3,750,000& 1 3,750
O E 9,000,000 x2H 18,000
07 QR HSNLH(SSRIE, A UF) 4,500 3,000 1,500
O2AAALNLE(SSHE, A=)
1,500,000& *32 4,500
08 SR ASNLHI(QI2t(E) 12,800 12,800 0
O2AHASNLYI(2I2t(E)
800,000 x82H *23] 12,800
09 e[ ZoHe| 40,000 40,000 0
(@R FRSEp) = da] 5,000,000 »8H 40,000
10 AEEAMRE=S 10,000 0 10,000
OUet2I=AIZ AR 3 2 HE 2R E= 10,000
N oAA=UASRES 3,840 0 3,840
O2A=UASRLES
80,0002 x4& * 12 3,840
12 2=2ALRES 7,968 0 7,968
O=uA2EE= 75,0002 «8& » 122 7,200




SN ISR
33 ogzd K&
&elr 232d E oZEs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIS
8,000 8~ 12 768
SIFER 97,740 151,100 53,360
201 er=23y| 33,000 31,100 1,900
01 AtR2t2|HI 33,000 31,100 1,900
O3 4K M 5,000,000& 42| 20,000
O8l+=2 M= 1,500,000 22 3,000
O3l =234 M= 9,000
OFad cggaes 82 1,000
308 AHXIEMSOIE 60,000 120,000 60,000
183 S| 2SO & AEAIE 60,000 120,000 260,000
OAFE2 (XA & XAX) 60,000
401 AIEHIZ SR OHYI 4,740 4,740
01 Al&HI 4,740 4,740
O4z2d 2LIHE 3tH EXISA
2,370,000 =2CH 4,740
A= 2tel 9,811 9,600 21
201 er23| 9.811 9,600 21
01 At2teltl 9,811 9,600 21
O2des A=zel 2,300
-AtdEE & Qlste 150,000 122 1,800
-AE2EE EY S 7Y
50,0003 * 107K 500
OIcHHATER 0 AISH 2 1,350
ODI2IAHA ArER 2
13,4003 x 122 161
O3l = M 6,000
EANE2GE - 2l 66,340 66,160 180
201 223 66,340 66, 160 180
01 At22telt] 24,460 24,280 180
OFAL M3EAIEZE &)| AHEH EF
2,000,000& *22 4,000
OAagretdaie] e 29
255,000+ 122 3,060
OFA 89(aa) 850,000+ 12 10,200
OF==J| & Hiol Xtz
400,000 123 4,800
OFAL 2| 428 28
200,000 x 122 2,400
02 S3=gHl 41,880 41,880 0
(OFSPIETE= 2,000,000 122 24,000
Odlot= = 40,0003 * 122 480
ORdYsER= 30,0002~ 12 360




FA: SIMR D

FH: Q32d XN
al

&elr 232d E oZEs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORQUBHIAIAE 2
170,000& * 12 2,040
Od=7 Al 15,000
YR el 152,300 110,170 42,130
201 et 3| 108,904 72,890 36,014
01 AtR2te|Hl 89,764 71,390 18,374
O2zle4 A A W=H|
800,000& x10&»23] 16,000
OOIAIPI RS BA2L
100,000& 4 & #53] 2,000
OUES BHLg
200,000 x5 *23] 2,000
OYBHAAS BAELY
100,000 2 *43] 800
OZR=AETAARAS BHHLY
100, 0003 »7 & *43] 2,800
OgsAPeI2AAS BHL
100,000& »7 & »23] 1,400
OXI At 10,0002 x5« 12& 600
OXXI2E & XN St
5,000 +82~ 122 480
O2z=2d &1 &M 4,000
Oodd & &4 M 170,000 *120H 20,400
O8HIO0IK |2+ EY 9,500
Ogaslo= s= (18 3
1,312,000& «12& 16,744
Ozlos S5 Ud =9
570,000 * 122 6,840
SEEEEREIES=
300,000 2H 122 7,200
2 352484l 19,140 1,500 17,640
OHHLEZEDII| KA 1,500
OSaLSAIAY RA24
1,470,000 122 17,640
202 04| 42,096 14,472 27,624
01 2LHA b 12,096 14,472 A2,376
OoBNR4E U ANEE 48 12,09
03 2L 30,000 0 30,000
O2d =eds ¢ 30,000
203 HR=H| 1,000 1,000
03 A=A RN 1,000 1,000
O2l2 A2 =& 1,000
303 Z&a=s 300 0 300
01 Za= 300 0 300
OREs2E 2¢ 50,0002 x1H+6E 300




SN ClBIARD
H: olz2Yy X|¥
&elr 232d E oZEs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rzrere) 27,706 20,705 22,000
201 Ler2H] 27,706 29,705 22,000
01 AfR 22l 105 105 0
ORESR AAE 35,0002 +3CH+13] 105
2 ZZ2H) 27,600 29,600 £2,000
ORSRAI 1,300
~0| & B (22012250) 500
~5 8 H(75216133) 100
~S 8 TH(144249528) 700
ONSHEE 1,800
~9| & B (22012250) 600
- BXH(75216133) 500
~S B TH(144249528) 700
ORSR | 23,500
~0| F 5 (22012250) 9,000
~5 8 RH(75216133) 5,500
~5 8! H(144249528) 9,000
OXSIt AL Al X122 (20%) 1,000
HZEABHI(ASARD) 104,339 111,602 A7,263
SEEETEENE) 52,49 50,030 2,465
SETEERER) 52,49 50,030 2,465
101 Q1248] 52,49 50,030 2,465
B Z2H (22224 52,49 50,090 2,465
OBA 22l 26,680
~ol=el(13) 53,360, 0002112 50% 26,680
OHIAa 22| 25,815
~122l(12y) 51,630,00021 124 50% 25,815
EETEERERD) 51,844 61,572 £9,728
EETEERE 51,844 61,572 £9,728
201 2er2y| 2,154 34,506 22,35
o1 M2 22lH| 23,154 25,506 22,352
OJl=4gH 9,720
OJl=2a) 4,104
ouenss 9,330
o 20,0008 x4 Z+ 152 122 960
~EYMS(HLSH)
22,0002+ 15354102 792
gl 18,0002 11535+ 102 7,128
~E21 7| 160, 00024 +35 450
02 2B2H| 9,000 9,000 0
O=ADISTLI 3,000,00021%3CH 9,000
202 01| 1,458 1,458 0




2A: 23AIR
Hr: ESAAY| (25 AR )
Sl J12dI(23AFR D (S ® )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 =WO4bI 1,458 1,458 0
Ol AIR J|2HRFA 1,458
203 PR F=&IH| 5,292 4,608 684
02 BRIArE 2| 1,512 1,368 144
O ADIZIE Y|
80,000& *21Z *90% 1,512
M 2GS HRFAL 3,780 3,240 540
O23IAIR1 FA2IHRFA
350, 0003 * 12 x90% 3,780
405 KHHESH| 12,940 21,000 8,060
01 AL =SZFSHI 12,940 21,000 8,060
O4slejd o013 885,000 44 3,540
O=39/E &&a H3D|
400,000+ 14 400
OLE=S 1,800,000 *5CH 9,000




